
New South Wales
Safeworking Practice Exam
(Sample)
Study Guide

Everything you need from our exam experts!

Sample study guide. Visit https://nswsafeworking.examzify.com



Copyright © 2025 by Examzify - A Kaluba Technologies Inc. product.

ALL RIGHTS RESERVED.

No part of this book may be reproduced or transferred in any form or by any
means, graphic, electronic, or mechanical, including photocopying,
recording, web distribution, taping, or by any information storage retrieval
system, without the written permission of the author.

Notice: Examzify makes every reasonable effort to obtain from reliable
sources accurate, complete, and timely information about this product.

1Sample study guide. Visit https://nswsafeworking.examzify.com for the full version

SA
M

PLE



Questions

2Sample study guide. Visit https://nswsafeworking.examzify.com for the full version

SA
M

PLE



1. What is a "lockout/tagout" procedure designed to do?
A. To ensure machinery is operational at all times
B. To ensure machinery is shut off and unable to be started

during maintenance
C. To allow unauthorized personnel access to machinery
D. To increase the speed of machinery operations

2. What should be done if a train stalls on the tracks?
A. Call for maintenance support
B. Arrange for protection to allow safe access
C. Attempt to restart the engine
D. Leave the train and wait for help

3. What is the main benefit of incident reporting in
organizations?
A. It improves safety practices and reduces future incidents
B. It allows for employee recognition and rewards
C. It enhances communication among employees
D. It aids in inventory management

4. What is the maximum speed allowed when traveling under
SPA working and in wrong running direction?
A. 40 km/h
B. 30 km/h
C. 50 km/h
D. 20 km/h

5. Which types of trains may require protection?
A. Passenger trains, normal service trains, freight trains
B. Delayed trains, stalled or failed trains, derailed trains
C. High-speed trains, emergency trains, maintenance trains
D. Express trains, local trains, light rail trains
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6. What does PPE stand for?
A. Personal Performance Equipment
B. Personal Protective Equipment
C. Professional Protection Equipment
D. Personal Protective Essentials

7. In RVD Territory on a Uni directional double line with no
Yard or Shunt limit signs, where are the Yard Limits?
A. At the last signal before departure
B. Between the Accept and the first Auto signal
C. At the departure platform
D. At the end of the rail corridor

8. What does 'risk hierarchy' refer to?
A. A list of employees trained in safety
B. A ranking of risk control measures from elimination to PPE,

prioritizing the most effective solutions
C. The history of workplace accidents
D. Employee opinions on safety measures

9. What is the recommended speed in a tunnel under yard
limit rules?
A. 15 km/h
B. 20 km/h
C. 10 km/h
D. 25 km/h

10. What is the holding test time for a 987 meter train?
A. 35 minutes
B. 38 minutes
C. 40 minutes
D. 42 minutes
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Answers
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1. B
2. B
3. A
4. A
5. B
6. B
7. B
8. B
9. C
10. C

6Sample study guide. Visit https://nswsafeworking.examzify.com for the full version

SA
M

PLE



Explanations
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1. What is a "lockout/tagout" procedure designed to do?
A. To ensure machinery is operational at all times
B. To ensure machinery is shut off and unable to be started

during maintenance
C. To allow unauthorized personnel access to machinery
D. To increase the speed of machinery operations

The "lockout/tagout" procedure is an essential safety practice designed to ensure that
machinery is properly shut off and unable to be started during maintenance or repair
work. This process involves using locks and tags to secure energy-isolating devices,
thereby preventing the unexpected energization, start-up, or release of stored energy in
equipment.   This procedure is critical in protecting workers from injury and ensuring a
safe working environment. By following a lockout/tagout protocol, maintenance
personnel can work on machinery without the risk of being harmed by unintended
equipment operation. It creates a clear communication system through the tagging,
indicating that the equipment is not to be used until the tag is removed and the lock is
opened, ensuring the safety of all personnel involved.  The other options do not align
with the purpose of lockout/tagout procedures, as they suggest scenarios that either
compromise safety or do not focus on the importance of controlling machinery during
maintenance.

2. What should be done if a train stalls on the tracks?
A. Call for maintenance support
B. Arrange for protection to allow safe access
C. Attempt to restart the engine
D. Leave the train and wait for help

When a train stalls on the tracks, ensuring the safety of personnel and other trains is of
utmost importance. Arranging for protection allows for the safe management of the
situation, which is vital in preventing accidents and ensuring that assistance can be
provided without exposing workers or other trains to danger.  By arranging for
protection, you can ensure that appropriate warning signals and signs are put in place to
notify other train operators of the stalled train. This can include establishing a safe
working area, setting up signal protections, and making communication with the relevant
authorities. This proactive step is crucial in maintaining a safe working environment on
the railway network.  While seeking maintenance support may indeed be necessary
afterward, the immediate priority is to guarantee a safe approach to the stalled train.
Attempting to restart the engine or leaving the train can pose risks not only to the crew
on board but also to other trains that may come into the vicinity of the stalled position.
Thus, arranging for protection is the best course of action in this situation.
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3. What is the main benefit of incident reporting in
organizations?
A. It improves safety practices and reduces future incidents
B. It allows for employee recognition and rewards
C. It enhances communication among employees
D. It aids in inventory management

Incident reporting plays a crucial role in enhancing safety within organizations by
providing a systematic approach to identify, analyze, and address safety concerns. When
incidents are reported, it enables the organization to investigate the root causes and
identify patterns or trends that may lead to future accidents. By understanding these
factors, organizations can implement preventive measures, such as training, policy
changes, or improved safety protocols, ultimately reducing the likelihood of similar
incidents occurring in the future.  The primary focus of incident reporting is to capture
valuable data regarding workplace hazards and to foster a culture of safety among
employees, making it an essential aspect of risk management and organizational
improvement. Other options, while they might have value in different contexts, do not
directly relate to the primary purpose of incident reporting, which is fundamentally about
enhancing safety and preventing future incidents.

4. What is the maximum speed allowed when traveling under
SPA working and in wrong running direction?
A. 40 km/h
B. 30 km/h
C. 50 km/h
D. 20 km/h

When operating under SPA (Special Possession Authority) working and traveling in the
wrong running direction, the maximum speed permitted is 40 km/h. This regulation is in
place to enhance safety and ensure that operators maintain control and reaction times in
a potentially hazardous environment.   The SPA working arrangement may involve
specific conditions such as reduced visibility or limited space, which necessitate lower
speed limits to prevent accidents. A speed limit of 40 km/h strikes a balance between
operational efficiency and the need to uphold safety while navigating against the normal
flow of traffic.   This regulation supports safe operations, ensuring that personnel and
trains can respond quickly to any obstacles or changes in the working environment. Safe
working practices are critical in railway operations, especially under unique conditions
like SPA, where standard operational conditions may not apply.
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5. Which types of trains may require protection?
A. Passenger trains, normal service trains, freight trains
B. Delayed trains, stalled or failed trains, derailed trains
C. High-speed trains, emergency trains, maintenance trains
D. Express trains, local trains, light rail trains

Protection is a critical safety measure in railway operations, particularly when it comes
to managing risks associated with trains that encounter unexpected issues. The types of
trains that require protection primarily include those that have become delayed, stalled,
failed, or derailed. Each of these situations poses unique dangers not just to the affected
train but also to surrounding trains and rail infrastructure.  Delayed trains may block
tracks or create hazards when other trains are approaching, necessitating protective
measures to prevent collisions. Stalled or failed trains can halt operations on vital
sections of the track, requiring the movement of other trains to be managed carefully to
avoid accidents. Derailed trains represent significant safety hazards and can obstruct
tracks entirely, demanding immediate protection to ensure the safety of other trains and
crews working nearby.  Other train types, such as passenger or freight trains in normal
service, generally do not require additional protection unless they encounter similar
issues. Therefore, the focus on stalled, failed, or derailed trains successfully highlights
the specific circumstances that necessitate protective measures to ensure safety on the
rail network.

6. What does PPE stand for?
A. Personal Performance Equipment
B. Personal Protective Equipment
C. Professional Protection Equipment
D. Personal Protective Essentials

PPE stands for Personal Protective Equipment, which encompasses a variety of clothing
and equipment designed to protect workers from hazards that could cause injuries or
illnesses in the workplace. This includes items such as helmets, gloves, goggles, and
respiratory protection. The primary purpose of PPE is to act as a barrier between the user
and the workplace hazards that could include physical, chemical, biological, or
ergonomic risks.   Understanding what PPE means emphasizes its vital role in
maintaining safety standards and reducing the likelihood of accidents or health issues in
any environment, especially those with potential dangers. This term is widely recognized
in health and safety regulations, making it essential knowledge for anyone involved in
workplace safety practices.
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7. In RVD Territory on a Uni directional double line with no
Yard or Shunt limit signs, where are the Yard Limits?
A. At the last signal before departure
B. Between the Accept and the first Auto signal
C. At the departure platform
D. At the end of the rail corridor

In the context of RVD Territory on a uni-directional double line without Yard or Shunt
limit signs, the Yard Limits are established between the Accept and the first Auto signal.
This designation is crucial for ensuring safe railway operations; the area between these
signals is considered the zone where train movement can be controlled and managed
effectively.   The Accept signal indicates that a train has been cleared to enter a
particular area, and the first Auto signal serves as a point where the automated protocols
for train movements can begin. Understanding this concept is vital for maintaining safety
and efficiency within the rail network, as it defines the boundaries within which specific
operational rules apply.   The other options do not accurately reflect the defined Yard
Limits in this scenario. For instance, the last signal before departure does not mark the
specific area of operation within the yard but rather indicates the point of clearance.
Similarly, the departure platform and the end of the rail corridor are physical locations
that do not encapsulate the operational framework of Yard Limits as determined in RVD
Territory.

8. What does 'risk hierarchy' refer to?
A. A list of employees trained in safety
B. A ranking of risk control measures from elimination to PPE,

prioritizing the most effective solutions
C. The history of workplace accidents
D. Employee opinions on safety measures

'Risk hierarchy' refers to a systematic approach to controlling risks in the workplace by
ranking risk control measures from most to least effective. This concept emphasizes that
the best outcome for managing risks is to first eliminate the hazard completely, followed
by implementing engineering controls, administrative controls, and finally, personal
protective equipment (PPE).   This hierarchy prioritizes interventions that remove the
source of risk over those that simply mitigate exposure or protect the individual. By
following this structured approach, organizations can better protect their employees and
create a safer working environment.  Other options do not capture the essence of risk
hierarchy. A list of employees trained in safety focuses on personnel rather than on
strategies for controlling risks. The history of workplace accidents is about past events
and does not provide a proactive approach to managing current risks. Employee opinions
on safety measures may highlight perceptions but do not establish a formal ranking of
risk control methods.
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9. What is the recommended speed in a tunnel under yard
limit rules?
A. 15 km/h
B. 20 km/h
C. 10 km/h
D. 25 km/h

In the context of yard limit rules, the recommended speed in a tunnel is set at 10 km/h.
This speed is prescribed primarily for safety reasons. Tunnels can present unique hazards
such as limited visibility, confined space, and the potential for emergency situations that
require rapid response. Keeping the speed lower ensures that operators have adequate
time to react to any unforeseen circumstances within the tunnel environment.  
Additionally, this speed helps to minimize risks not only to the rolling stock but also to
personnel who may be working in or near the tunnel. By adhering to this guideline, train
operators are better equipped to maintain control and ensure the safety of both the crew
and any maintenance staff present.   This emphasis on safety within confined spaces like
tunnels is a critical aspect of effective train operations under yard limit rules,
highlighting why the 10 km/h speed limit is advocated.

10. What is the holding test time for a 987 meter train?
A. 35 minutes
B. 38 minutes
C. 40 minutes
D. 42 minutes

In the context of safeworking practices, the holding test time refers to the duration a
train of a specific length requires to conduct various tests to ensure it is operating safely
and efficiently. For a 987 meter train, the established holding test time is 40 minutes.
This time frame is essential in allowing the relevant authorities and operators to perform
comprehensive checks, including brake tests and system diagnostics.   This standardized
holding test time ensures that all safety protocols are adhered to, minimizing the risk of
accidents and ensuring the train is adequately prepared for its journey. Understanding
this duration is vital for train operators, as it impacts the overall timetable and
operational efficiency.
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